1. What will come in place of question mark '?' in the
following question?

4.5% of 900 + 8.5 =82-7?

A) 11 B) 13
C) 10 D) 15
E) 25

2. What approximate value should come in place of
question mark '?' in the following question?

405.03 +9.08x14.94 ="

A) 675 B) 645
C) 575 D) 605
E) 595

3. What approximate value should come in place of
qguestion mark '?' in the following question?

59.89% of 4500 + 39.96% of 6500 - 79.87% of 5500 = ?
A) 900 B) 700

C) 800 D) 750

E) 1000



4. What will come in place of question mark (?) in the
following question?

3 5 1 1
1>4+1>-2-=7 41—

476 8 12
A) 9/24 B) 7/24
C) 5/12 D) 7/12

E) None of these

5. What approximate value should come in the place of
question mark (?) in the following question?

96.98+709.99-142.93=3.98 x ?

A) 154 B) 150
C) 166 D) 160
F) 172

6. What should come in place of the question mark (?)
in the following questions?

(16)° + (16)* x (16)3 = (16)’
A) 6.75 B) 8
C) 10 D) 12

E) None of these



7. What should come in place of the question mark (?)
in the following questions?

V7921+(?)? = 4% Of 1000 + 98
A) 7 B) 49
C)6 D) 36
E) None of these

8. what will come in place of the question mark (?) in the
following question?

2/7 of 5/8 of 7/9 of 6048 =?

A) 504 B) 820
C) 168 D) 480
E) None of these

9. What should come in place of question marks (?) in
the following question?

25+ 5x 15 (10 - 5) + 25 + 75 =?

A) 4> B) 90
C) 1/900 D) 125

E) None of these

10. What approximate value should come in place of
question mark (?) in the following question? (You are
not expected to calculate the exact value.)



(9.979)3 - (23.99)2 + (1.99)° = ?

A) 350 B) 490
C) 390 D) 420
E) 450

11. Simplify: 53 of % of % of j—z of 36 — 1—58 of g

A) 125 B) 140
C) 150 D) 140
E) 1502

12. What should come in place of question mark (?) in
the following question? (200 - 10%) + 5 - 2000% of 15 +
300% of 10 =7

A) 5 B) -5
C) 10 D) 0

E) None of these

13. Simplify: 108 =~ 36 of i+ % X Bi
A) 13~ B) 13=
10 10

C) 11> D) 12—
10 10



E) 12
10

14. What should come in place of question mark (?) in
the following question?

512 x0.5=1024 +? x 4

A) 128 B) 8

C) 32 D) 28
E) 16

15. What approximate value should come in place of
question mark (?) in the following questions? (You are
not expected to calculate the exact value)

?=4005.33+19.89x1.9

A) 470 B) 300
C) 400 D) 360
E) 500

16. What approximate value will come in the place of
the question mark '?' in the following question?

(? +9.97) x 12.08 = 20.12% of 1319.98
A) 220 B) 260
C) 250 D) 200



F) 240

17. What approximate value will come in the place of
the question mark '?' in the following question?

34.03% of 550.08 =+ ? = 297.08 +\/728.97 -/ 89998

A) 14 B)21
C) 8 D)17
F) 12

18. What approximate value will come in the place of
the question mark '?' in the following question?

339.98 + ? =1/143.98 + V/64.02

A) 20 B) 17
C) 10 D) 23
E) 40

19. What approximate value will come in the place of
the question mark '?' in the following question?

2?=32.01+ 128.01 x 1023.97 + 7.97
A) 7 B) 3

C)5 D) 9

E) 6



20. What approximate value should come in place of
question mark (?) in the following question?

2 (11.925 x 6.05) + (5 x 85.87) = ?

A) 569 B) 468
C) 574 D) 497
F) 523

Directions (Q.Nos. 21-25) In each of these questions,
two Equations | and Il are given. You have to solve both
the equations and give answer.

Give Answer
a.lfx>y b. If x 2y
b. If x <y d. Ifx<y

e. If x =y or no relation can be established between x
andy.

21. 1.x*-13x+40 =0
Il. 2y?-y-15-0



22. 1.5x*+17x+6=0
1. 2y* + 11y + 12 =0

23. 1.7x*-19x+10=0
1. 8y + 2y - 3=0

24. |.x*-8x+15=0
I y2 - 3y + 20

25. 1.3x%-7x + 4 =0
II.2y2-9y +10=0

Directions (Q. Nos.26-31) In each question two
guantities are given. You need to solve them and give
answer accordingly.

26. Quantity | Vessel A contains (Q+36) litter mixture
of milk and water in the ratio of 7 : 2, while vessel B
contains (2Q+42) litter mixture of milk and water in the
ratio of 2 : 3. If 40% and 46% of mixture from vessel A
and B taken out respectively, then remaining mixture
in vessel B is 150% of remaining mixture in vessel A.



Find the total initial quantity of milk in mixture of vessel
A and vessel B together.

Quantity Il - Two vessels contains mixture of mango
juice and orange juice in the ratio of 5 : 3 and 5:4,
respectively. If 40 litter mixture from first vessel taken
out and mixed in second vessel, so new ratio of mango
juice and orange juice in second vessel becomes 25.
Find initial quantity of mixture in second vessel?

AET | -7 A ¥ g 3R 9l &1 (Q+36) dlie
forsmor 7.2 % Ieqara #H § F9fF T BH (20+42)
e gqer 3R urelt @1 AT 2:3 % re[ara A B
Ifg Tda AR B & FAM: 40% 3T 46% TASOT
AT Srar & Y a0 BH AW AT 9T AH
AT fASOT FT 150% 81 TcieT A X TcieT B & fRaror
# gu A Fa IRNAF AT AT HifT

HET 11 -7 94l 7 3MH & W 3 T § | &
forsror warer: 5:3 3 5:4 % equra F B IR wEA
gasT ¥ 40 e fAsor Awee gE aded A
fRemar Smar 8, a g i # a3 & W AR



X & TH FT F97 9T 25§ A 31 g8
qdeqt A Asor fY IRf@E 7T A9 ffew

(a) Quantity | > Quantity ll(b) Quantity | < Quantity Il
(c) Quantity | > Quantity II(d) Quantity | £ Quantity Il
(e) Quantity | = Quantity Il or no relation

27. Quantity | A can complete a task in 24 days and B
can do same task in 18 days. Another two persons C

and D complete 58%% of the same task in 7 days and

efficiency of D is 40% more than that of C. Find in how
many days A, B and D will be complete the task
together?

Quantity Il - Ankit is 60% less efficient than Satish and
complete a piece of work in 22.5 days. Ankit and Satish
start work together and after 4.5 days both left the
work, if veer complete the remaining of work in 4.5
days then find in how many days the whole work will
be completed, if all three work together?

AMT |-ATEF T & 24 Qe & QU #T aFar
IR B3 FF M 18T 7 X FFam 7l I
3t saf¥Fa c AR D EAW F FT 582% 7 Rt A
U A ¢ A DFr q&Tar CH Joar A 40%



IffF g1 g AfST &F A B3R D AawFr F
I fFasr e 7 @@ e

AT 11 - Afra Teller & 60% FH FAG § AR F
A HY 22.5 @At & Q@ FIar ¢ AFA 3w
U HIY FH FIET IS A ¢ AR 451 & a1
XA FTH SIS T §, 3P IR AY FH F7 4.5 AT
#A U Far §, A @ FH fraa Bt F qu g,
IR Al TH AT FH I 82

(a) Quantity | > Quantity lI(b) Quantity | < Quantity Il
(c) Quantity | 2 Quantity I1(d) Quantity | £ Quantity Il

(e) Quantity | Quantity Il or no relation

28.5y?+ 21y +18 =0 and

16(x+2) = 4(x+3) - 64(x+3) X 4(x+4)

Quantity I: Value of y.

Quantity Il: Value of x.

(a) Quantity | > Quantity ll(b) Quantity | < Quantity Il
(c) Quantity | > Quantity II(d) Quantity | £ Quantity Il

(e) Quantity 1 = Quantity Il or no relation



29. Quantity | A shopkeeper has two articles A and B.
Marked price of article B is 20% more than marked
price of article A, shopkeeper sold article A at 25%
discount and article B at 20% discount. He made 20%

: 2 : :
loss on article A and 65 % profit on article B. If total loss

of shopkeeper was 765, then find marked price of
article B?

Quantity Il - A shopkeeper gives a discount of 24% on
marked price of shirt and cost price of jeans is 25%
more than selling price of shirt. If shopkeeper sold
jeans at 10 % profit and selling price of Jeans was 1140
X more than selling price of shirt, then find the cost
price of article Jeans?

AMT | T&F FEGR & 9 & & A FR B3
aE BFT AHfhd Aed a8 AF Hihd Hed ¥ 20%
#OF ¢, gFECR dF T& AR 25% G W IR
a¥d BHI 20% T€ T I9T| 3ol & AT 20% HI
gif AR aFg B W 6% 1 @ FaATTl IR
gHIGR &1 Fol g 765 A, Y awqg B & 3ifwa
Hed AT L2



AET Il - UF gHEGR AC & Hfhd FAeq W 24%
1 g a1 § IR e w1 w7 qoa o F BT
Hed @ 25% Ifas 31 Il gameer ¥ siew
10% @187 9 =1 R Sfiew &1 Oy g7 a€ &
fawa Aog @ 1140 X 3fOF o1, O a&g Sfiew &
T Hed A FST?

(a) Quantity | > Quantity ll(b) Quantity | < Quantity Il
(c) Quantity 1> Quantity ll(d) Quantity | £ Quantity I

(e) Quantity | = Quantity Il or no relation

30. Quantity I- A bag contains four green balls, three
red balls and five blue balls. If three balls taken out at
random what is probability of at least one ball is green
and at least one ball is blue color.

Quantity Il -There are five red toys and six green toys
in a cartoon. What will be the probability of selection
of four toys which contains at least two green toys.

AR I-TF &7 & IR & 3 i o 3 3ilx
g el 3T &1 I e At B Ire=sar AFrer



AN FA A FAH g F X I FA @
HH Tk g & Aol TN & gl A IrRASwar F1 &2

AET Il - T FEA & 9T ot @l 3t 88 ®
fFeld &1 W aR Rl § gga f ofl@Ean
T 9l ToTd &7 @ FA4 a1 g¥ W & @ala gl
(a) Quantity | > Quantity ll(b) Quantity | < Quantity Il
(c) Quantity | 2 Quantity Il (d) Quantity | £ Quantity Il

(e) Quantity | = Quantity Il or no relation

31. Quantity | Six years ago ratio between age of P and

I . 1
Q was 7 : 8, while six years hence ratio between gth of

P age and érd of Q age will be 9 :20. The age of P two

years licence will be .

Quantity Il Ratio between age of A, Band Cis 16:9: 7.
Three years hence average of all three age will be 35
years. The age of A two years hence will be?

AMT |- B8 A 9ga P AR Q@ 3y & i &
9T 7:8 9T, STdfh BE ATl d1¢ P HI 3Y F 1/6
IR QY 3T F 1/3%F € FT A 9:20 FMI
P AT a1 a¥ gl



AT 11 -A, B3R CHY 3T & T F7 379G 16:9:7
g1 e a¥ arq =t 3y @7 stwa 35 a¥ gem @
a¥ 91 A ST A FT e

(a) Quantity | > Quantity ll(b) Quantity | < Quantity Il
(c) Quantity | > Quantity II(d) Quantity | £ Quantity Il

(e) Quantity | = Quantity Il or no relation

32. What will come in place of question mark (?) in the
following series?

1,3,7,13,21,31,°7

A) 43 B) 33
C) 41 D) 45
E) None of these

33. What will come in place of question mark '?' in the
given

number series?
2,3,7,22,89,°7
A) 446 B) 412



C) 324 D) 319
F) 298

34. What will come in place of question mark?' in the
given

number series?

14, 7,7, 14, 56, 448

A)7 B)9
C) 12 D)25
E) 14

35. What will come in place of question mark '?" in the
following question?

17,22,32,47, 67,92, ?
A) 112 B) 132
C) 111 D) 122

E) None of these

36. What will come in place of question mark in the
following number series?



10080, 1440, ?, 48,12, 4

A) 660 B) 240
C) 120 D) 280
F) 360

37. What should come in place of question mark '?' in
the following number series?

1,8,27, 64,125, ?, 343
A) 212 B) 196
C) 225 D) 216

E) None of these

38. What should come in place of question mark ?' in
the following number series?

3,11, 31, 69, 131, 223, 7

A) 351 B) 350
C) 349 D) 270
E) 288

39. What should come in place of question mark '?' in
the following number series?



2, 3,10, 15, 26, 35, 50, ?

A) 65 B) 69
C) 63 D) 86
F) 36

40 What will come in place of question mark '?' in the
following question?

0,2,6,12,7, 30,42

A) 26 B) 26
C) 34 D) 20
F) 30

41. What will come in the place of the question mark
'?"in the following number series '?

512 26 54 110 (?)

A) 202 B) 213
C) 333 D) 222
E) 228



42. What should come in place of the question mark '?"
in the following number series?

8, 104, 1144, 8008, ?, 120120
A) 30040 B) 40040
C) 50050 D) 20040

E) None of these.

43. What should come in place of the question mark ?'
in the following number series?

15, 16, 68, 621, 9952, ?
A) 19904 B) 398080
C) 248825 D) 128825

E) None of these

44. What should come in place of the question mark '?"'
in the following number series?

5, 10, 30, 105, 440, ?

A) 920 B) 1325
C) 1840 D) 2125
E) 2225



45. What should come in place of the question mark '?"
in the following number series?

5,6, 13,40, 161, ?

A) 987 B) 806
C) 876 D) 888
F) 654

46. What should come in place of the question mark '?"'
in the following number series?

1680, 210, 30, 5, ?, 0.25

A) 4 B) 2
)3 D) 1
E)5

47. In the following series one number is wrong, Find
out the wrong number.

60, 30, 150, 75, 375, 187.5,935.5

A) 30 B) 150
C) 75 D) 375
E) 935.5



48. In the following series one number is wrong, Find
out the wrong number.

448, 225, 226, 340, 682,1703.5

A) 225 B) 226
C) 340 D) 682
F) 1703.5

49. In the following series one number is wrong, Find
out the wrong number.

59, 60, 56, 65,47, 74

A) 47 B) 74
C) 56 D) 60
E) 65

50. Find the wrong term in the following series.
0.7,0.7,2.1,10.5, 72.5, 661.5

A) 0.7 (1st) B) 10.5

C) 72.5 D) 661.5

E) 2.1



51. In each of the following number series, the wrong
number is given, find out that number.

7,12,33,130, 635, 3804

A) 12 B) 33
C) 635 D) 130
F) 3804

52. Find the missing number in the series
2,1,1,15,3,?

A) 5.5 B) 6.5
C)7.5 D) 6

E)7

53. Find the missing number in the series
1,11, 99, 693, 3465, ?

A) 8946 B) 11296

C) 10395 D) 12974
E) 10296



54. Find the wrong number in the given series.

9/14, 11/14,13/14,8/7,17/14, 19/14, 3/2

A) 13/14 B) 8/7
C) 17/14 D) 19/14
E) 3/2

55. Find the wrong term in the following series.
62,87,187,412, 811, 1437

A) 62 B) 811

C) 187 D) 87

E) None of these

56. Find the wrong term in the following series.
119, 176, 260, 371, 509, 675

A) 675 B) 119

C) 176 D) 371

E) 509



57. Find out the wrong number in the series:

41, 45,54,72,95

A) 45 B) 54
C) 72 D) 95
F) 41

58. Find out the wrong number in the series:

1, 6, 14, 39, 88, 209

A) 6 B) 14
C) 39 D) 88
E) 209

59. Find out the wrong number in the series:
17, 38, 80, 168, 332, 668, 1340

A) 38 B) 80

C) 168 D) 332

E) 668



60. In each of the following number series, the wrong
number is given, find out that number.

4,9, 28, 111, 566, 3397

A) 28 B) 3397
C) 566 D) 111
F)9

61. In the following number series, a wrong number is
given. Find out the wrong number.

330, 80, 280, 120, 250, 130, 240

A) 330 B) 280
C) 250 D) 130
F) 240

Directions: Study the following graph and pie — chart
carefully to answer the questions that follow.



The following Bar graph shows the data of the
Percentage of people working in different organization

fArfof@d IR I% [T el A F1H F
grel AT & yfaerd &1 31 fe@rar &

80

60
a4
A B C D E

H Female ® Male
Organization

o

o

o

Percentage Breakup of Employees in Five Different
Organizations [Total number (N) = 35000

T AAM-HAdT WISaAT H HAARAT F1 gfqera
fasrrster [FeF W&AT = 35000

BA mB mC =D WE



62. Total number of employees in Organization A is
what per cent of total number of employees in
Organization D?

HISA AH FAAMNRIAT FT Fl TE&IT, WIoa DH
FAARET v Feor TE&AT F e wfaera 2

A) 137 B) 179
C) 120 D) 122
F) 203

63. What is the total number of males in organization
A and C together?

s AR A AT oW fA Fa FdEA
frasit 87

A) 7250 B) 8400

C) 8025 D) 8750

E) None of these

64. What is the difference between the number of
females in Organization B and the number of females
in Organization E?



e B H ARt A e 3R Frsa £ H
Afgerat fr FEar & S = a7 2

A) 1210 B) 3010

C) 1700 D) 3000

E) None of these

65. What is the number of females in Organization D?
s DH Afgemstt Fr dear frasr g2

A) 2120 B) 2200

C) 2540 D) 2375

E) None of these

Direction: Study the following table carefully and
answer the questions below.

The number of books published by six companies and
the percentage of books distributed equally among
distributors working with the company is given in the
table below:



B¢ FUCAI @RI YT qEaal f F&dr AR
FYAT F WY FIH FA drd AR’ & T g7
w0 ¥ aRa qEas &1 gfaed AT arfeswr 7
e I &

Percentage of
Number of books
Publishers books distributed
published among

Number of
distributors
working with

.. the compan
distributors pany

f\°mpa"" 4900

§°mpany 6300

Company

5600 85 11
Company  Pyas 70 5
Company. e 80 8

Company

7200 75 6



66. What is the average number of books published by
companies A, C, and D together?

Fafadl A, C 3 D q@RT AT TR qEahl

Y 3itaa TEar fhasr 87

A) 5700 B) 5900
C) 5500 D) 5300
E) 4700

67. What percent (approximately) of the number of
books distributed by company B to distributors is the
number of books distributed by company E?

F9! B @RI faadl 1 fala qrast Hr g
&1 T gfaerd (eemsrer) &9sl Eq@rr faaRd

'gFaﬁﬁ'#ﬁiﬁtan'%?
A) 136 B) 126
C) 132 D) 129

F) 124



68. Among the total number of books distributed by
company D to distributors the respective ratio of
academic and non-academic books was 5: 4. What was
the number of non-academic books distributed by
company D?

F9e1 D G@RT faawwl A fAaRa gea=t v Fe
gedr # dIfOrd AR IR-QerOw  gEawl @
HEOT AU 5:4 AT F9h D garr fdaRa K-
Farforer qEadl i wEar frael o

A) 1230 B) 1800
C) 1120 D) 1550
E) 1600

69. What was the respective ratio between the total
number of books distributed by Company B among
distributors and the total number of books distributed
by company C among distributors?

faawdr & fiw Fuell B garr AaRa qEas $
For ¥&AT 3R At & diw F9elt cqamr faRa
qEd®! T Fo FEAT F dIT FAOT AT FAT
aT?



A) 531: 882 B) 81:68
C) 567: 475 D) 494: 227
E) 476: 567

Direction: Sale of wox boxes on different days by ABC
company.

80

70 D
60
50
40
30

20
10

Monday Tuesday Wednesday Thrusday Friday
=@=\edium 48 32 60 52 40
==@==Large 36 42 32 46 70

70. How many large size wox boxes were sold on all the
days?

st =T # fFas 99 3R & AFw dF9 S
AT?
A) 226 B) 216

C) 206 D) 196
E) 236



71. Total boxes sold on Monday are what percent of
total boxes sold on Thursday?

HHAGR $T 9 AT Fd 3o, TR T 9 AT FoA
qal F1 e gfaera g2

A) 75.7% B) 77.7%
C) 87.5% D) 95.7%
E) 85.7%

72. What is the average of medium size wox box sold
on Monday, Thursday and Friday?

HIHER, TFaR AR YHAR F 9 7T AEIH MFR
& dTw dFd &1 dEa 7=
A) 45.67 B) 47.67

C) 44.67 D) 46.67
E) 48.67



73. Find the ratio between large size wox box sold on
Wednesday and medium size wox box sold on Tuesday.

qUaR A IT AT I3 HFR F dqFw aidq #R
HIAAR F 9 T ALIA HHR & qFd qFq
& o &1 HAUT AT hifsr]

A) 1:2 B) 2:1
C)1:3 D) 2:3
E) 1:1

74. Boxes sold on Tuesday of both sizes are what
percent of Marge size boxes sold on Friday?

el HTHRI & HAITAGR F1 9 AT dFd, YHaAR
S 9 T AT MHR & dIFT FT fhdar gfaerd
e?

A) 100% B) 105.71%

C) 110% D) 115.71%
F) 105%



75. What is the difference between medium size wox
box sold on Monday and large size wox box sold on
Thursday?

HIHGR H 99 AT ALIH HHR & qF9 99
IR IRFAR ' AT AT I3 HFR F AFH qTFH &
T FAT HAT @7

A) 2 B) 1
C)O D) 3
E) 4

Direction (76-80): - Bar graph given below shows total
students (Boys+Girls) who play four different games
and number of boys who plays these games
respectively. Study the data carefully and answer the
following questions.

AR feAT T IR AH Fr BT (ASH + dSTHRAN)
F @Tar § S HAW: IR FAI-37T G Wl
g 3 3T @el F VAR g TSR HT FTEAT F
gatd &1 3T &1 eueuEE Iewds HY 3R
fArfaf@a weat & 3cav &1



120

100 # =
80 7 % %

o ——

= ==
e =k
w = % é =
. %5 %: /E /5. F—

76. Find the ratio between total number of students
(Boys+Girls) who play Cricket, Volleyball and Tennis to
total number girls who play Volleyball and Football?

fhhe, afelldiar 3X A @oad g ol
(FsF+asfeal) f Fa & F aeda dR
Fedid Golal arell asfFal fr o T&AT § 3T
GIGECUGEE

(a) None of the given options (b) 21:8

(c) 23:16 (d) 23:8
(e) 21:16



77. Total number of boys who play Cricket and Football
is how much less than total students (Boys+Girls) who
play Football and Tennis?

e 3R Pedlad Foaa I/ a8l hY Foa TEAT
Pedir IR AW @R g Fa  BEl
(reh+asfhal) @ fraet &7 8

(a) 112 (b) 116

(c) 118 (d) None of the given
options

(e) 114

78. Total number of boys who play Volleyball and
Tennis is what percent of the total girls who play same
game?

aieliaier 3T AW doa arer ag®l f Foa wE&A;
AT G W arell asfral fr Fo d&qr F:7
fraer gfdera &2

(a)33§% (b) None of the given

options

(c) 66%% (d) 50%



(e) 25%

79. Out of total boys and girls play Football, 50% and
33§%respectively qualified for nationals. Find total

students (Boys+Girls) who were disqualified for
nationals is what percent of total students (Boys+Girls)
who play this game?

Fediel el ald Fol dsHl I asfFar F @
FAA: 50% AR 33-%% & TSI TR F AU
FarelteTs ATl o BT (srsd+arsia) F1 qar
AT, Sieg TSET T W 349 YR R arn
o1, 50 Ao B Yot AT T GHT (ATsH+ASRea)
&1 fhdar gfaera 27

(a) 40% (b) 60%
(c) 50% (d) None of the given
options

(e) 80%



80. Find the average number of girls who play
Volleyball, Football and Tennis?

areftaier, pedial 3T faw Qeoar areht wsfFat i
g "g&TT AT fifgee

(a) 54 (d) 56
(c) None of the given options (b) 52
(e) 50

Direction (81-85): The given bar graph shows the
percentage of query resolved by three people Abhi,
Bindu and Chintu on Monday and Friday with respect
to total calls received by them.

GaRT WHATR 3R AR HT ol G@RT IIod Fel
HIdl & TIT FH goT 1 7S FIN &1 gfaera cutar
gl
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Abhi Bindu Chintu -
@ Monday OFriday

81. No. of query resolved by Abhi and Chintu on Friday
is 360. What could be maximum number of calls that
were not resolved by Abhi on Friday?

YHAR I A 3R g q@arT g A 7§ Fq A
HEAT 360 81 YFAR &I ATH @RT g 81 & TS
Fral 1 AfFTA FEAT st & wher 87

(a) 89 (b) 40

(c) 12 (d) 100

(e) None of these

82. Number of queries resolved by Bindu on Monday is
180 and call received by him is 25% more than query
resolved by Abhi on that day. Find the number of calls
received by Abhi on Monday.



fig T WAER 1 g U a0 geal A wET
1808 3 3¥& GaRT WIed Hiel 39 foT A gamr
g fFT v med & 25% AF B A gEmr
HHAIR &I ST HidAl D FE&IT AT TS

(a) 260 (b) 440
(c) 360 (d) 400
(e) 320

83. If 20% calls increased from Monday to Friday for
Bindu and Chintu and average number of query
resolved by them on Friday is 30 more than that of
Monday. Find call received by Chintu on Friday is how
much more than that of received on Monday by him.

afg g 3t AT § v dar @ gFar a&
20% Il 96 ATl § M YHAR FT 37F ART gl
$r ¢ FAN @ AT FEAT WHAR A JAT A
30 fae @1 W AT F R AN gFaR A
YIod i, WIAAR & 9o Fiad ¥ et rfaw
el

(a) 125 (b) 220



(c) 120 (d) 200
(e) 250

84. What is the ratio of calls received by Abhi, Bindu
and Chintu on Friday. If the number of query resolved
by them is in the ratio of 3:4:2.

YHAR HI A, &g 3 R q@arn greqd Fiar F1
Iqard R 87 IfY 39F @nr g At 1§ RN
aﬁ'm3:4:2$3’lﬂqﬁﬁ'%l

(a) 12:33:19 (b) 14:32:11
(c) 15:32:10 (d) 10:35:12
(e) 8:7:9

85. Query resolved by Chintu on Monday is 60% of the
query resolved by him on Friday. Query resolved by
Abhion Friday is equal to the sum of the query resolved
by Chintu on both days. Call received by Abhi on Friday
is what % more than that of Chintu on Monday.

AHAAR 1 RIg @ g AT 15 FA 3/F @R
AFAR P g T 7T WoT FT 60% g1 A gaRT
YFAR P g T 1§ FAN QA ar F R g@m
gl & IS TN & AT & qaR T A F FaR



F UIed i, MAIR H & A Fa @ Faa
gferera rfas B

(a) 100% (b) 200%
(c) 250% (d) 300%
(e) 120%

86. Difference of the compound interest received in
first year and second year at 20% per annum at Cl is
1200, then find the sum.

Thghg AT G 20% Uid ¥ T T & 9gel a¥
3 g@Y a¥ F ured IHIY SATST FT HaT 1200
g, ar i AT fqfew

A. 25000 b. 36000
c. 35000 d. 24000
e 30000

87. Find the total distance covered by boat in each
upstream and downstream in 7 h if the speed of boat
in still water and speed of current is 21 km/h and 3
km/h respectively.



gfg Ag 1 1A ard I A FR awr fr afq
e 21 fRHi/Eer 3R 3 Fdl/ger g aY 93+ ORI
¥ gfawe I 4RT F HeJH AT @FRT 7HE A
ag 7§ Fa gl AG AT

a. 280 km b. 294 km
c. 315 km d. 301 km
e. 322 km

88. Ratio of income of A to that of B is 5:9, If

: . 3 S :
expenditure of A is gth of his income and expenditure

. 4 . : .
of B is gth of his income and sum of their saving is

1950, then find the difference between their income.

A 3T FT BH HeUTd 5:98, AT AFT 0T 3HhT
T T 3/8a7 & 31T B FT sTF IFHY 3T FT 4/9aT
& 3 3T 99 FT T 21950 %, A ST & =T
T AT AT AT 3T 3|
a. 2900 B. 1000

c. X880 d. X960
e. X920



89. A alone can do a work in 12 days while A and B
together can do that work in 7.5 days. Find the time
taken by C alone to dothat work if C takes 3 days more
than that of B alone to do that work?

A 3T Tdh HIH H 12 &1 F FT Gohar § sEfE
A 3T B FATHT 39 H1H H 7.5 AT & T gFa
gl I CcIFS 3T FF F FA HA B Y 3 feA
IWF AaT & Y 3T T Y FA F QAT 3 A C
¢arT o I §HYE AT Hifere?

a. 33 days b. 30 days
c. 23 days d. 27 days
e. 28 days

90. Ratio of base and perpendicular side of a right-
angled triangle is 3 : 4 and its base is equal to the side
of a square having area 81 cm?. Find the perimeter of
the triangle.

UF gAFIOT AT & HUR AR daad §er #
U1 3:4 8 3R sHFT IR 81 {H2 &FABe arer



g #T ST & X gl B3 w1 IRAW AT
HIfse]

a.30cm b.36 cm
c.33cm d. 4cm
e. 40 2cm

91. A person travels half of the distance at the speed of
x km/h and remaining half of the distance at 4x km/h.
Find the value of 'x' if the average speed is 36.8 km/h.

o cafda el gl x Realverer @ af & sk AW
el gft ax fratraer #r afa @ a0 wtar ¢ 3l
staa aifa 36.8 fRellEer & @Y 'x &1 AW AT
il

a. 21 b. 25
c. 24 d. 23
e. 20

92. A, B and C invested a ratio of 1:8:5 in a business.
They got an annual profit of X136800. If A and C
withdrew their amount at the end of 3 months and 7



months respectively. Then, find the difference
between A and Cs share of profit.

A B3R CUF TqET & 1:8:5F 3Hqurd A foaer
FId T 3¢ 136800 HT dAMMWH AT F3TI IRY A
AT coF Faer: 3 AG AT 7 AET F g F srwen
Tfr araw o off fhT ot & A3 cfeed & =
T R AT ATl

a.X12600 b.X 11500
c. X 13500 d. X10500
e. X 13000

93. Retailer sold one article at 33&% profit and another

at 100% profit. Find his overall profit percentage if the
selling price of both the article is same?

PeHt AFar A TF ¥ N 33% AT W ad
gEd TFG F 100% AT WX d=AT| AR QXA aE3
#T OFT Hed WA ¢, A 3HRT Fol A1 Fferd
AT HIfT?

a. 60% b. 55%



c. 66=% d. 75%

e. 56-%

94. A mixture has milk and water in the ratio 4: 1. When
50% of the mixture is taken out and replaced by 24 L of
water then the ratio of milk to water in the mixture
becomes 1 : 1. Find initial quantity of mixture.

v fAsor & qur R 9l FT e 40181 99
50% fA40T &t foreTel T 24 Wfiex Il & s =
JTar g af T 7 qur 3R 9l @ e 118
Srar g1 fAsor i yrRfAw #@Er aa fifow

a.80 L b.45 L
c.70L d.60L
e./5L

95. 4 yr ago, ratio of Shivam's age to Deepak's age was
2:3 and ratio of Shivam's age 4 yr ago to Deepak's age
5 yr hence is 8 : 15. Find present age of Shivam.

49 ggal, g & g &1 duF AT Y @
Ieqard 2:3 97 AR 4 a¥ gger Rraw f g @+



dras AT sa¥ dr HY ¥ T 8:15 81 Aaew M
qAATT A AT AT

a.32yr b. 28 yr
c.40 yr d.24 yre.36yr

Directions (Q. Nos. 96 and 97) Three milkman A, B and
C have mixture of milk and water in the quantity of
(X+24) liters, (X+54) liters and (X+84) liters and milk and
water in the ratio of 23.8.7 and 13:5, respectively.

forder (7 w&aT 96 3R 97) et QEraTer T, ot IR At
F U (X+24) AT, (x+54) e 3R (x+84) dfex
3T g & AT A gy HR arer w1 AT @ s
FAA: 23.8.7 A 13:5F T H Tl

96. If A sold 50 liters of his mixture and 8 liters of milk
added in remaining mixture, new ratio of a milk and
water becomes 6 : 7. What quantity of water should be
added by B and C, so new ratio of their mixture
becomes 5:7 and 5:4 respectively?

gfe A3rgar fAsmor &1 50 ofex 3R Ay BAsor 7 8
offeT g fArarar &, ar qur 3R 91l FT 737 reyura



6: 78 ATAT g1 B3R Cc & fhaey AET & g
fare =fge, @ 3a% RO FT AT AU S B
SITaT 81 ;7 3T 5:4 HAA:?

(a) 56 liters and 40 liters (b) 54 liters and 42
liters
(c) 50 liters and 30 liters (d) 60 liters and 50
liters

(e) 64 liters and 30 liters

97. B Sold 40% of his mixture and C sold 50% of his
mixture, remaining mixture of both became equal. If all
three charge X2 for one liter of water and production
cost of milk for A, Band C in the ratio of 5:6:7 and total
mixture, which all three milkmen have cost 3644. Find
production cost of milk per liter for A, B and C
respectively?

B 379at fASOT #T 40% s=T 3 ca 3r9ar fAsor
T 50%, A¥ A0 Fr IT AT NG F e @
Tl gfg i v X gt & o 2 9 Fd
g AR Tk @ F AT gr f searEe anra
5:6:7 % AT # AR Feol fAo0r, S At gerarer



$T ARTT 3644 g1 FHAA: A B3I cF faw gfa
e qU H 3G ANl AT HIST?

(a)X6,X7andX8 (b) X 25,X30and X
36
(c)X10,X12andX 16 (d) 10X 12 and X14

(e) X10,%X 14 and X15

: 1
98. In an election survey, 835% of total voters took part

in survey, 50% then claims to votes for candidate P,
10% are uncertain and rest says to vote for Q. If all of
them voted according to their commitments on the day
of election and those who were not part of survey,
voted to P and Qin ratio of 2 : 1. All the people who are
uncertain in survey, voted to P: Q in the ratio of 1:4 in
election. If P won by 640 votes then find total number
of votes in election.

TF goa qdIor A, T AqGan F & 83% A
gaor A #wT o, 50% Y 3FEAlgar & & faw
die &7 grar #Xa 8, 10% Afafaa § i arhr ar
F # dC & & AT Fga & IR 397 wshr @
9= FfAagdI3it & ITAR Ader fFAT| 19 &



feer 3ttt St gdaTor T fRwwT AE & IRl 2: 1%
3T A PR QFT Al fear| wdaror A rfafRea
gl At F AT H 1:4F (AT H P: QA Al
fam afe peso e @ Sfiar @ @Y g A Fa
Fdt i g&ar Aa v

(a) 6000 (b) 5000
(c) 9000 (d) 7200
(e) 6750

Directions (Q.Nos. 99 and 100) A sale conducted on
mobile store where cost price of three types mobiles A,
B and C the ratio of 5:7:9. Store owner made mark price
of mobile A and C, 30% above cost price and mobile B,
40% above cost price. Discounts allowed by store on

mobiles A, B and Care 15%%, 21%% and 11%%,

respectively.

Adsd TR W IS v [f star i 9or
F AT A, B 3R CHT ARIT Hed 5:7:9 % 9T
H T R & Afdd o Aesd AR cHr ifFra



Hed, AT {ed § 30% {8 3 Az 8, amra
qoT ¥ 40% 30w 3ifFa fFam Aesa T & 3k
I W TR G@N & FAW 15-%, 21°% 3R
11:%, B

99. A man purchased fourteen type A mobile, twenty
type B mobile and fifteen type C mobile in sale. If store
owner made a total profit of 17500 on all type A
mobile, purchased by man than find total profit made
by store owner on type B and type C mobiles, which
was purchased by man?

UF HIGHT o dlgg ersT v AWEd, fiw TsT &
AEsd 3R Jgg a3y | Aesd Q@ & @dern
I TR & Alferd o AEH garr @l v Fsft
YR & ANGS W 17500 FT Fel AT FA, A
TR & AfdF @RI gy o 3K ey i Aega
W T T Fo a1 H Jolar H, @ A A
TieT 9T?

(a) X82500 (b) 284500

(c) 278500 (d) 287500



(e) 88500

100. Store decided to give no discount on purchase of
any type of mobile it will be given two mobiles free on
purchase of six type A mobiles, one mobile free on
purchase of five type B mobiles and three mobiles free
on purchase of ten type C mobiles. A retailer come to
purchase mobile and take away 48 type A mobile, 36
type B mobiles and 39 type C mobiles. Find overall loss
percentage of store owner in this transaction?

R o frdr ff yar & AaEad A @lic W F:E
&c el aa F1 faviy foram 3, 58 veR & Al
@leet 9T a1 ANEA AT, T R F o A
A @lic W e ANEd 3N 7 vvR F @
Aarger 1 @l W die Alsd AFT T Smeer|
UF Fead faddl Alsa @liga amar ¢ 3% 48
<I8Y U AEIS, 36 239 & Alded 3R 39 =T €
AESAT o odT gl 57 de-dod A TR & Alfd®
$T Fel ThAT FfAAT AT L2

(a) 10 =% (b) 82
281 281



76 ,
(c) 456 (d) 1422%31%

28
(e) 9& %

01. Given expression is,

= 4.5 % of 900 + 8.5 = 8%-?

= 2* x 900 +85="8 -7

= 405+85=82-2
=49=64-7
=7=64-49=15
=7?7=15

02. Given expression:
405.03+9.08x1494 =7
= 405+9x15=7?
= 45x15=7
=?7=675

03. 59.89% of 4500 + 39.96% of 6500 - 79.87% of 5500 =?
. 60% of 4500 + 40% of 6500 - 80% of 5500 =7?
= 2700 + 2600 - 4400 =7
= 5300 - 4400 =7
= 7 =900



== =
e 42144-51-26
' 24
= ?7=9/24

05. 9698 +709.99 - 14293 =398 7
= (97 +710) - 143 = (4x7)
- B807-143=(4x7)
= 7=(807-143)/4 = 664/4 = 166

06. Then, (16)° = (16)* x (16)° = (16)"
= (16) x (16)° = (16)"
= (16)% = 16"
Since base of these two numbers are same so we can equate the
powers of these two numbers.
=n=8 '

07. V7921 + (?)2 = 4% Of 1000 + 98
= 89 + ()2 = 4/100 x 1000 + 98
= (7)2 = 40 + 98 - 89
=?2=V49=7

08. sol 59.
2/7 of 5/8 of 7/9 of 6048 = 2/7 x 5/8 x 7/9 x 6048 = 840



09 -
Follow BODMAS Rule -

= 7=(25/5)x15(5)+ 25 +75
=5x(75/25) + 75
=5x3+75

=15+75

=90

10. Given expression: -
= (9.979)3 - (23.99)2 + 25
=103 - 242 + 25 = 1000 - 576 + 32

= 456 = 450

2 .3 430 .40 18 _,1
11. The given expression is: gof-gof—.rofﬁof 36 — 75-0f3
The given expression can be rewritten as
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12.

13.

14.

15.

The given expression is,

(200 - 109 + 5 - 2000% of 15 + 300% of 10

= (200 - 100) + 5 - 2000% of 15 + 300% of 10
=100 + 5 - (2000/100) x 15 + (300/100) x 10
=20 - 300 = 30

=20-10

=10 =?

Given expression:
108+ 36 of = + 3 x 35
=108+ (36 x 1) +2 x 2
=108 + 9 + 5
124 8
e 120413
10
133

3
S = =13
10‘1310

Now, the given expression,
512x05=1024 +7x 4

= 256/4 = 1024/?

= 7=1024/64

=7=16

4005.33 = 4000

19.89 = 20

19=2

~.Now, given expression:
4005.33 +19.89 x 1.9

= (4000/20) x 2

=200 x 2

=400



16.

17.

18.

19.

20.

(? + 9.97) x 12.08 = 20.12% of 1319.98
By approximation;

(? +10) x 12 = 20% of 1320
?7+10x12=264

=7 =264 x10/12 = 220

34.03% of 550.08 + ? = 297.08 + V728.97 - V89998
By approximation;

= 34% of 550 + ? = 297 + V729 - V90000
187 +? =297 + 27 - 300 = 24
= ? = 8 (approx.)

339.98 + ? = V143,98 + V64.02
By approximation;

=340 +?=V144 + V64 =20
= ?=340/20 =17

27 =32.01 + 128.01x 1023.97 + 7.97

By approximation;
=27=32+128x1024 + 8 =32 =128 x 128
2? =32= 2°

=2?=5

Given expression,

2(11.925 x 6.05) + (5 x 85.87) =?
=2(12x 6) + (5% 86)=?
=2x72+430=7

=144 + 430 =7

=?=574



21. (a)1. x* -13x +40=0
= x2—8x—5x+40=0
= x(x-8)-5x-8)=0
= (x-8){x-5=0
v Xx=8,5
.2y -y -15=0
= 2" -6y +5/-15=0
= 2yly-3+5y-3 =0

= (y-39@y+5=0 ..y=3—-=
Hence, x> y.
22. (e) 1.5x* +17x +6=0
= 5x%° + 15x+2x+ 6 =0
= 5x(x+ 3 +2Ax+3) =0
= (x+3Ex+2 =0 .-.;»::—3;“?2

I.2y° + 11y +12=0
=2y’ + 8y +3y+12=0

=2y +4) + 3y +4) =0
= (y+4)2y+3 =0

y=—4, —

Hence, no relation can be established
between x and y.

23. (@) 1.7x*-19x +10=0
= 7x° —14x—5x+10=0
= 7TxX(x-2—-5x-2=0
=5 (x-29(7x -5 =0

=

N[

1.8y + 2y -3=0
= B8y +6y—4y—-3=0

=2y(4y + 3) — 14y + 3 =0
= (4y + 32y - 1) =0

y_—3
41

N =



24. () 1. x* =8x+15=0

= X° -5x-3x+15=0
= (x=-H(x-3) =0
x=35
I.y* =3y +2=0
= y-2-y+2=0
= (y-ay-1=0
y=12
Hence, x>y

25. "(c)1.3x* —7x+4=0
= 3x° —3x—4x+4=0
= - (x-1)B8x-4)=0

4

sx=1 -
3

II.2y* —9y +10=0
= 2y -5y —4y+10=0

= @y-9y-2=0
'Y=§2
o 2,

Hence x<y.

26.
-(b) Quantity |

According to the question,

150% of remaining mixture in vessel A =
Remaining mixture in vessel B

60 _ 150 54°

=Q+ 36)x — X —=2Q + 42) x =~

( ) 100 100 ( ) 100
6.

=(Q+36)= 20 + 42)x
=10Q + 360 = 12Q + 252 =2Q = 108

=Q =54

Total initial quantity of milk in mixture of vessel A
and B together

= (54 + 36) % 7§+.(108+ 42)><%

=70+ 60 =130liters



Quantity Il Let mixture of mango juice and
orange juice in second vessel be bx liter and 4x
liter respectively.

According to the guestion,

5
5x+40x§_25 x+5 _ 5

__73——::»
e+ 402 19 4x+15 19

= 19x+ 95=20x+75=>x=20

. Initial quantity of mixture in second vessel
=(bx + 4x)=9x 20
= 180 liters

Hence, Quantity | < Quantity !

27. . (a) Quantity |

Let 1 day work of D = X
X

stdayworkofC = L 100 _ 6

x 140 7x
According to the question,
1
DoBu 78 1.2
X 7x 100x7 & 144 ,
~1dayworkof A, Band D
atg o T SR+ 087
24 18 144 144
21 7
142 a8
~A Band D together will be complete the work
= g = Sg days
Quantity Il Ratio of efficiency Satish and Ankit":
=100:40=5:2

~Total work = 225 x 2x = 45x units
According to the question,
Work of 4.5 days Ankit's and Satish's

= (5x + 2x) x 4.5 = 31.5x units

Remaining work = 45x — 31.5x = 13.5x

= Veer efficiency = 1;3—‘55 = 3 units/day

= Satish, Ankit and Veer together will complete

the work= 45x = 45days
S5x + 2x + 3x

Hence, Quantity | > Quantity I




28. . (a) Quantity I, 5y° + é1y +18=0

— 5y + 6y + 15y +18=0

= (5y + 6)(y+ 3)=0
__3_8

Quantity II,

16(z+2)+4(x +3)=(64)x +3X4(x +4)

(4)2x +4-1—3___(4)3¥ +9+x +4

=
[-a™+a"=a™"anda" xa" = gy
ey x+1=4x+13
[.- on comparing]
= : Bx=-12=2x=-4

Hence, Quantity | > Quantity Il

9.
« (a) Quantity I,

Let mark prize of B be x.
100 _ 5x
.'.Marked 1 fA=x X—=—
priceof A=x 20 6
Selling pri B2 18 0%
g price of A = X 100 8
) 4x
Selling price of B = x x B =
According to the question,
(six‘_°_9+:‘i‘.x1°°"3)
8 80 5 320 _ ‘
Y ﬂ) =765
8 8

a(g’l + _:f:‘l] . WEPRSEx) o 766

3 4 a0

49x _ 57x _sep yy . 705X 160 7000
32 40 17

Quantity Il Marked price of shirt = 100x

Selling price of shirt = 100x x ll:(—) = 76x

Cosl price of jeans = 76x x %g = 95x

, ) 110
Selling price of jeans = 95x x —
gp j T

|'_._ SP= CPx 100+ Profit% |
L 100 |
= 104.5x

According to the question,
104.5x — 76x = 1140 = 28.5x = 1140

= T cm—— S

. Cost price of jeans = 95 x 40 =¥ 3800
Hence, Quantity | > Quantity II.



30.
(b) Quantity |
In beg, Green balls = 4, Red balls = 3and
Blue balls = 5

Required probability = P (1 Green, 1 Red, 1
Blue) + P (2 Green, 1 Blue) + P (1 Green, 2

=“C,x:’C,x5C,+"C2xsc,+4C,x5C2

2y Bl

11 22 11 22

Quantity Il Red toys = 5, Green toys = 6
Required probability = P (2 Green, 2 Red) + P
(3 Green, 1 Red) + P (4 Green)

. 80, % 502+ s % %6 ; o

- "C4 nc4 nc4
=15><10+20><5+ 15 _ 265 _ 53

330 330 330 330 66
Hence, Quantity | < Quantity I

31.
Consecutive even numbers(starting from 2) have been added to
the terms to get the next term.
ie.
1+42=3
3+4=7
7+6=13
13+8=21
21+10=31
3N+12=43=7

=16 x 3 + 2 = 50years
Hence, Quantity | = Quantity Il

32.

The pattern is:
=22x1+1=3
23x2+1=7
=27x3+1=22
=’22X4+1=89
=289x5+1=446=?

33.
The pattern is:
=1x(1/2) =7
=27x1=7
=7x2=14



= 14x4 =56
= 56 x B = 448

34.

The pattern of the given series is:
=217+5x1=22
=22+5x2=32
=32+5x3=47
=47 + 5x 4 =67
=67+5x5=92
=92+5x6=122

35.

36. '

37.

38.

The pattern of the given series is as:

= 10080/7 = 1440

= 1440/6 = 240

= 240/5 = 48

= 48/4 =12

=12/3=4

Hence, the required missing term is 240.

Ihe pattern of the given series:
=19=1

=23=-8

=133=27

=43=64

= 53=125

=6%=216

=73=343

L 2=216

If we look at the numbers carefully, they follow the pattern,
=3=14+2

=21=224+3

=31=33+4

=69=4345

=131=53+6

=223=6%+7 :

According to the pattern, the next number should be,
=73+8=351

5 ?7=351



39.

40.

41.

The pattern of the given number series is as following:
=212+1=2, .
=22-1=3,

=32+1=10,

=42-1=15,

=5241=126,

= 6% -1=35,

=7%2+1=50,

=82-1=63

Hence, the required number in place of question mark is 63

0+0%=0
1+12=2
2+22=6
3+32=12
4+42=20=?
5+52=30
6+6%=42

In this series we can observe that,

5+7=12

12+14=26[14=7x2]

26 +28=54[28=14x 2]

54 + 56 =110 [56 = 28 x 2]

. The next term in the series = 110 + 112 = 222 [56 x 2 = 112]

The pattern of the above series is as follows,
Multiplication by prime numbers.
8x13=104

104 x 11 = 1144

1144 x 7 = 8008

8008 x 5= 40040 =?

40040 x 3 = 120120



42.
The pattern of the above series is as follows,
15x (1)2+ (12 =16
16 x (2)2 + (2)*> = 68
68 x (3)2 + (3)? = 621
621 x (4)2 + (4)% = 9952
9952 x (5)2 + (5)% = 248825

43.

The pattern of the above series is as follows,
5x1+5=10

10x2+10=30

30x3+15=105

105 x 4 + 20 = 440

440 x 5 + 25 = 2225

44.
5x1+1=6
6x2+1= 13
13x3+1=40
40 x 4 +1=161
161x 5 +1=806

45,
1680/8 = 210
210/7 =30
5/5=1
1/4 = 0.25

46.

The pattern is as follows:

The logic used in the series is the division of the number by 2 and
multiplication of the number by 5 alternatively.

=30=60+2

=150=30x5

=75=150+2

=375=75x5

=1875=375+2

= Next term will be 187.5 x 5 = 937.5

- 935.5 is the wrong term in the series

47.
The pattern is as follows:
= 225 = (448 x 1/2) + 1
=226=(225x1) +1
=340 = (226 x 3/2) +1
= 682 (340 x 2) + 1 (not following the pattern, it should be 681 -
instead) : 4
= 1703.5 = (681 x 5/2) + 1
~. 682 is the wrong term in the series.



48.

The series follows the following pattern:
59 +12 = 60

60 - 22 =56

56 + 32 = 65

65-42=49

49+52=74

- The wrong term in the series is 47.

49

07 07 21 105 725 6615
x1 x3 x5 x7 x9

But, 105x7 =735

Hence, 72.5 does not follow the logic

50.
7
7x2-2=12
12x3-3=33
33x4-4=128=2130
128x5-5=635
635x 6 -6=3804

51.
2x1/2=1
1x2/2=1
1x3/2=15
1.5x4/2=3
3x5/2=75

52.
1x1=1
Nx9=99
99 x 7 = 693
693 x 5 = 3465
3465 x 3 =10395

53.
The given number series is an arithmetic progression of the form
g, (a+d)(a+2d),..[a+(n-1d]
In the given series,
First term =a =9/14
Common difference =d =11/14 - 9/14 = 1/7

= 1%t term = 9/14

= 2" term = 9/14 + 1/7 = 11/14

= 39 term = 11/14 + 1/7 = 13/14

= 4N term =13/14 + 1/7 =15/14
= 5N term = 15/14 + 1/7 = 17/14

= 6N term =17/14 + 1/7 = 19/14

= 7™M term = 19/14 + 1/7 = 3/2

. Wrong number = 4t term = 8/7



The given series,

62 + square of 5,10, 15... = next number
= 62 +25=87

= 87 + 100 =187

= 187 + 225 = 412

55.

56.

57.

58.

59.

= 412 + 400 = 812
= 812 + 625 = 1437

119 176 260 371 509

boogie AL 8 Mt
+57  +84  +111 +138
W e L,
v21  +21  +21 127
=241+4=45
=45+9=54
=54+16=70 (not72)
=70+25=95
=§1+22=5 (not 6)
=»5+32=14
=14+ 5%=39
-39+72=88
- 88 +112=7=209
17x2+4=38
38x2+4=80

80x2+4=164 (not168)
164 x 2 + 4 = 332
332x2+4 =668

668 x 2 + 4 =1340

The series follows the following pattern:

4x2+1=9

9x3+1=28

286x4+1=113

113x5+1=566

566 x 6 +1=3397

-. The wrong term in the series is 111.



60.
330 -80 =250
= 280 - 80 =200
= 280 - 120 =160
= 250 -120=130
= 250 - 140 = 110 (not 130)

= 240 - 140 =100
(250 - 200 = 50, 200 - 160 = 40, 160 ~ 130 = 30, 130 - 110 = 20, 110

-100 =10)
. Wrong number in series = 130

61.
Total number of candidates applied for company A in 2010 and
2014=3+5=8lac
Total number of candidates applied for company B in 2011 and
2013 together = 6 + 12 =18 lac
Required ratio=8:18=4:9

62.

Employees !n organization A = 18% of 35,000 = 6300
Employees in organization D = 15% of 35,000 = 5250

~. Percentage of total number of employees in organization A to
that in organization D =
(6300/5250) x 100 = 120

63.

No. of males in organization A = 70% x 18% x 35,000 = 4410
No. of males in organization C = 40% x 31% x 35,000 = 4340
-. Total number of males in A and C organizations together =
4410 + 4340 = 8750

64.

No. of females in organization B = 55% x 22% 35,000 = 4235
No.'of females in organization E = 25% x 14% x 35,000 =1225
-. Difference between the number of females in Organization B
and the number of females in Organization E = 4235 - 1225 =
3010

65.
2100

No. of females in organization D = 40% x 15% x 35,000 =

66.
ber of books published by A, C, and.D =
ARga SR of

3 .
-. Average number of books published = 4700

67.
Number of books distributed by company B = 0.9 x 6300 = 5670



" Number of books distributed by company E = 0.8 x 5500 = 4400

- Required % = 27 y 100 = 128.86 ~ 129%

4400
68.

Total number of books distributed by company D among
distributors = 0.7 x 3600 = 2520

Total number of distributed books = 4x + 5x = 9x

= 9x = 2520

= x = 2520/9 = 280

-. Number of non-academic books = 4 x 280 = 1120

69.

Number of books distributed by company B = 0.9 x 6300 = 5670
Number of books distributed by company C = 0.85 x 5600 =

4760
- Required Ratio = 5670 : 4760 = 567 : 476 = 81: 68

70.

Large size wox box sold on Monday = 36

Large size wox box sold on Tuesday = 42

Large size wox box sold on Wednesday = 32

Large size wox box sold on Thursday = 46

Large size wox box sold on Friday =70

-. Total number of large size wox boxes sold on all the days = 226

71.

Total wox boxes sold on Monday = 48 + 36 = 84
Total wox boxes sold on Thursday = 52 + 46 = 98
- Required percent = 84/98 x 100 = 85.7%

72.
Medium wox box sold on Monday = 48
Medium wox box sold on Thursday = 52
Medium wox box sold on Friday = 40
= Total boxes = 140
- Average = 140/3 = 46.67

73.

Large six wox box sold on Wednesday = 32
Medium size wox box sold on Tuesday = 32
.. Required Ratio =1:1

74.

Boxes of both sizes sold on Tuesday =32 + 42 =74
Large boxes sold on Friday =70
- Required percent = 74/70 x 100 = 105.7%

75.
Medium size wox box sold on Monday = 48
Large six wox box sold on Thursday = 46
- Required difference = 2



. 96+72-
76. (d);Required ratio = ool L LI | Y.

(72-24)+(00-32) ~ 48+48 96 B

77. (a); Total number of boys who play Cricket and Football
=44 +32 =76
Total students who play Football and Tennis
=80+ 108 = 188 '
Required difference = 188 — 76 = 112

78. . (c); Total number of boys who play Volleyball and
Tennis = 24 + 48 = 72
Total number of girls who play Volleyball and
Tennis =72 — 24 + 108 — 48 = 48 + 60 = 108

ired % == = €620
Required A)_—108x100-—663A)

79. (b); Total number of boys who play Football = 32
Total number of boys who qualified for nationals

=32x2=16

100 _
Total number of girls who play Football
=80—-32=48

Total number of girls who play qualiﬁedi for

ionals =48 % 122 =
nationals = 48 X i 16

Total students who were disqualified for nationals
=32—-16+48—-16=16+32 =48
Required % = 2 X 100 = 60%

80. . (b); Total number of girls who play Volleyball
=72—-24=48
Total number of girls who play Football
=80—32=48
Total number of girls who play Tennis
=108 — 48 = 60
Required average = % (48 +48 + 60) = ISTG =52

81. (a);LetAbhiand Chintu received 100x & 100y calls
respectively
So ATQ
80x + 80y = 360
X+y=45
Total calls = 100x + 100y = 450
Abhi could receive maximum calls = 445
As Chintu resolved 80% of calls, and therefore, we
will get an integer value when he atleast get 5 calls.
So maximum calls that were not resolved

20 _
- =>445 xm—89



82. (e); Call received by Bindu on monday = — >< 100 =300
1Quu’y resolved by Abhi on Monday
—X4=240
Cnlls recenvcd by Abhi on Monday
=> —_— X 100 =320

83. (d); Lct calls received by Bindu and Chintu on Monday
be 100x and 100y respectively.
Calls received by them on Friday 120x and 120y

respectively.

Now query resolved
Monday — 60x + 90y
Friday — 60x + 96y
ATQ,

60x:96y _ 60x+90y =30
3y =30

y=10

- Required answer — 10 x 20 = 200

84. (c); Letquery resolved by Abhi, Bindu and Chintu 300x,
400x and 200x respectively

Required ratio

200x 400x%100  200x%100
= X100 : :
50 80

15% ?2.]0

85. (b);Letcall received by Chintu on Monday — 100x
Query resolved by Chintu on Monday — 90x
Query resolved by Chintu on Friday — — x 100
=150x

Query resolved by Abhi on Friday = 90x + 150x
= 240x

Call received by Abhi on Friday =

= % 100 = 300x

300x-100x

chmred % = “oox X100 =200%

86. (e) Let. the sum be % P, Here, r =20%
PX20x1_P

= —

100 5
[ CI and SI for 1 yr are same])

(P+-g]x20 X1

ClI of first year =

CI of second year =

100
[*Sum for second year = P + CI of first year]
6FP .1 _ &P
= W=l
5 5 25
According to the question,
6p _P_ 1200 :;g.e'P_'sgz 1200

25 b
= P =1200 x25= 330000



87. (b) Given, speed of boat in still water =21
km/h
Speed of current = 3 kmn/h
Upstream speed =21 -3=18 km/h
Downstream speed =21 + 3= 24 km/h
Total covered distance
= 7 X upstream speed
+ 7 X downstream speed
[+ Distance = Time X Speed]
=7Xx18 + 7x24 )
=126 + 168 =294 km

88. (d) Let, income of Aand B are 5x and 9x

respectively. 3 o - .
Expenditure of A= —8— of 5x = 2

4 s
Expenditure of B= 5 of 9x = 4x.

According to the question,
Saving of A+ Saving of B= 1950

(5x = l_sx) 4 (@x — 4% =1950
8
25X , 5x=1950
8

=25x+40x=1950x8

= 65x=1950x8
1950 x 8 — 240
= X= e

*. Di 2 heir income
. 'Dl[feretcg)?f-—t 5x =4x=4 X 240 =3I 960
, — -



) 1
89. (c) As 1 day's work =T

(A+ B)'s 1day's work = _—?1—5 = 12—5
S
s 's 1 day's work = e
_8-5_1
T80 20
-, B alone to do that work = %days
20
| =20 days
* C alone to do that work =20 + 3
=23 days

90. (b) Let, the base and perpendicular of a
right-angled triangle be 3x and 4x
respectively.

.. Hypotenuse = J[Basaz + (Perpendicular?
= /9% + 1652 =25, =y
Area of square = (Side)® = 81
Side=9cm
[~ base of triangle = side of square {given}
3x=9 =2x=3

~. Perimeter of the triangle
=3x+4x+5x=12x

=12x3=36cm

91. (d) Here, v; = x km/h
v, = 4x km/h

.. Average speed = ik
Vl + VE
X
=3 6.8 = XX X4x
x+4x
= x=ﬂx—5=4.ﬁx5.—4x:23

8

92. (a) THe ratio of profit A, B and C= The
ratio of annual investment
=Txx3:8xx12:5xx7
=21x:96x :35x



Total profit =21x + 96x + 3bx

= 136800 = 152x

' 136800 _ 900
152

- Ditference between A and C's share of

=36x -~ 21x = 14N

14 x 900 [+ x = 900]

12600

= N

profit

il

93. (a) Let the selling price of each article be

100.
Cost price of first article
100 J

PG . .
Selling Pric®™ 750 + Profit%

=100 X 1
100-&-335

=100X§!£=75
400

Cost price of second article
100
100 + 100

=100x£)9=50
200

=100 X

Total cost price =75 + 50 =125

Total selling price
=100+ 100 =200

. Overall profit = Total selling price — Total
cost price =200 —125=75
Overall profit percentage
- Overall profit x 100
Total cost price

=75 %100=2x100=60%

125 5

94. (a) Let. quantity of mixture be x.
,| Taken out quantity of mixture



= H0% of X
Ho N
aNNwr—". ot
100 2
Remaln quantity of mixtura
N N
|mN—— %
- S
» Quantity of milk in romain mixture
h N_ 41 2~
W e
2 5 hH
and quantity of water in remain mixtare
X 1 )
P e
2 b 10
Total quantity of water, aller
N >
24 L mixed = — + 24
i 10

According to the qaquestion,
“

N
BE! M.
N 4o 1
10
2 X
ZIN=— + 24
= H 10
P 1 >
=> e x =24
5 10
=5 = l).\'-——2!4
10
= _\’:2‘(‘l >-<—!9 =80 L

2
Hence, initial quantity of mixture is 80 1.,

95. (b) Let Shivam's present age = x yr

Deepak's prosent age =y yr
According to the question,

x=4_2
p=a 3

= 3x-12=2y~-8

= J3x-2y=4 (1)
N=df B

and =—

y+5 15
= 15x -60 =8y + 40

= 15x -8y =100 (i)
Solving Egs. (i) and (ii), we get

X =28

y =40

Hence, present age of Shivam is 28 yr.



96. (b) In 50 liters sold mixture of A,
milk = 50 x 2= 20 liters and water = 30liters

According to the question,

Z(X+24)-20+8
S(X+24)-30
b
= 14X — 84 =18X — 468
= 4X =384= X =196

-~ Mixture which B have
— X + 54 =06+ 54 =150liters

For B, milk = 150 x % = 80 liters and water

— 150 % . = 70liters
15

-» Mixture which C have
= X + B4 = 86 + 84 =180liters

For C, milk = 180 x % — 130 liters, water
5 ,
=180 x — = 50 liters
18

Let B added X liters of water, then
80 _ 5 _, 560 =350+ 5k
D+k 7

= k= %ﬂ = 42 lilers

Again, let C added m liters of water, then

LEL = §=:~250+ Bm = 520
50+m 4
_ 270,

=" = —— = b4liters
]

Hence, water must be added 42 liters and 54
liters by 8 and C, respectively.

97. (d) According to the question,

(X + 54) x 190 40)
100
=(X + ad)xf_”?‘_m

T 6X + 324 = 5X + 420



=3 X = 006 lters

Let production cost lor A, B and C be T 5x.
T Gx and 7 x respectively.

According 1o the question,

-

‘ 5x + 80 % 6x + 70 = 2)
(48 % Hx + 72 »x2)+ ( T

+ (130 = 7x + 50 % 2)=
4 — 144

—» (240x + AB0x + 010x) = a6
i — 140 — 100

— 1630x = 3260 =x =2

- Production cost lor A= 5 x
Production cost for B= 6 x 2=12
Produclion costforC =7 x 2 = T 14

2=710

| 98. (d) Let total voles be Bx.

People who tock part in survey
- 831% of 6x
3

Number of people claims to vote for P
S 2

= 5Bx X = —_—
100 10

: 10 5
ncertain = 5x X — = — X
W 100 10
People who did not took part in survey

=pBx —bhx = x

25 - 2 5x 1
Total votes for P = :I—Ox -+ Ex -+ T » =
10 - 3 10 30 30
Total votes forQ = 6x — %
30
_ (180 — o8)x . BZ2x
- 30 30

According to the question,
98x  82x _ 640
30 30
= 16x = 640 % 30 = x = 1200
.~. Total votes in election = 6 x 1200 = 7200
Sol. (Q.Nos. 89-100) Let cost prize of A, B and
C type of mobile be ¥ 5x, T7x and T 9x.

Marked price of type A mobile

130
=5x x — = ¥ B6.5:
100 =

Marked price of type 8 mobile
=Tx ><-—-0=29.8:c

Marked price of type C mobile

130
=0x x — =%
100 117 x

Selling price of type A mobile
(100 -15 E]

100

[ SP= MP x 190 — Discount 951
100 1

11

= 6.5x x
=B58xx — =
13 5.5x

Selling price of type B mobile

0.8 100 — 213
ST Y 11
100 B R =TTy




gelling price of type C mobile
1

100 - 11— 5
9 = 117x x = =104x
100 9

a9. (d) Total cost price of 14 type A mobile
- 14 x 5x = 70x

Total selling price of 14 type A mobile
—14x 55x=T7x

- Total profit of all type A mobile = T17500
77x - 70x = 17500

=117x %

=

[ Profit= sp - CP]
W wied 132_09 _ 72500
Total profit'made by store owner on type B and

C mobile
=20%x(77x —
= (20 x 07 + 15 % 14) x
=35x2500=1 87500
100. (c) Total cost of type A, B and C mobilas
=48 % d5x + 36 % 7x + 39 x Ox
= 240x + 252x + 351x = B43x

Total effective cost price of type A, BandC

mokiles
- 36 x B6.5x + 30 % g8x + 30x 117x

(-120n 48,6 0N 36 and 9 on 39, mobiles gift
will be get)
—=9234x + 294x + 351x = B79x
- Loss of store owner
879x — ;
_ 879x - B43% _ 400= 416 o
843x

7x)+ 159 % (10.4x — 9x)
[ x = 2500]
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